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1. ssZhw Iev]n®X\kcn®v tami GXv aebnemWv FØnbXv?
A. ko\mbv B. tlmd_v C. tamdnb

2 Altdm≥ kz¿Æw aqibn¬ Dcp°n F¥mWv hm¿sØSpØXv?
A. ]mh°p´n B. \mb°p´n C. Imf°p´n

3. ssZhw \¬Inb F{XasØ Iev]\bmWv C{kmtb¬°m¿ ewLn®Xv?
A. 3 B. 8 C. 1

4. ""AhnSp∂p I\n™v AhcpsS ]m]w £an°Ww; A√¶n¬  AhnSp∂v FgpXnbn´p≈
]pkvXIØn¬ \n∂v Fs‚ t]cpambn®p If™mepw'' ˛ hN-\-`mKw GXv?

A. ]pd∏mSv 30/3 B. ]pd∏mSv 32/32 C. ]pd∏mSv 28/8

5. tami F{X DSºSn ^eIßfpambmWv Xmsg°v Cdßn h∂Xv?
A.  2 B. 6 C. 3

6 C{kmtb¬°mcpsS F√mØcw _‘ßƒ°pw ASnÿ\ambn \nesIm≠Xv F¥v?
A. Bcm[\ B. ImgvNIƒ C. ssZhIev]\Iƒ

7 Altdm≥ Imf°p´nbpsS ap≥]n¬ F¥mWv ]WnXXv?
A.  tai B. t]SIw C. _en]oTw

8 F{X Znhkßƒ°v tijamWv tami P\Øns‚ ]°te°v h∂Xv?
A. 60 Znhkßƒ B. 30 Znhkßƒ C. 40 cmhpw 40 ]Iepw

9 tami I¿Ømhns‚ ASp°¬sN∂v F¥mWv ]d™Xv?
A. Ah¿ ]m]w sNbvXp t]mbn B. Ah¿ ̀ bs∏´p t]mbn C. Ah¿ \ncmicmbn t]mbn

10 ""\o DS®p If™ ]eIIfnep≠mbncp∂ hm°pIƒ Xs∂ Rm≥ AXn¬ FgpXmw'' GXmWv
hmIyw?

A. aØmbn 3/5 B. D¬∏Øn 2 / 6 C. ]pd∏mSv 34/1


